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<html> <html>
<head> <head>
</head> </head>

<body dir="rtl">

<hl >Y7 90 nmvw</hl>
<table border="1">
<tr>
<td>nn>ns myw</td>
<td>9: 00-16: 00</td>
</tr>
</table>
<br/>
<a href="parks.html”>wx91 919 in<ra>

</body>
</html>

<body dir="rtl">

<h1>n) yavn mwr</hl>

<a href=telDan.html”>
<img src="dan.jpg”>
</a>

</body>
</html>
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<script>
var num = parselnt(window.prompt("Press a number"));
var count = 1, sum = 0;
while (count < 4) {
num = parselnt(window.prompt("Press a number")); X
sum = sum + num;
count = count + 1;
¥
document.write( sum / count );
</script>

7M1 sum OI9'X
<script> nN717
var m, num, sum ; X
for (m=1; m <=4; m++) {
num = parselnt(window.prompt("Press a number"));
sum = 0; a
sum = sum + num;
}
document.write(sum /4 );
</script>

N'OI01'X NX71Y
<script>

var count = 0, sum = 0; X
var num = parselnt(window.prompt("Press a number"));
while (count < 4) {

sum = sum + num;

num = parselnt(window.prompt("Press a number"));

¥

document.write( sum /4 );
</script>
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<script>
var sum =0, num =0, m; nndo 'N
for (m=1; m<=4; m++) { U ahiable)ah!
X

sum =sum + num;
num = parselnt(window.prompt("Press a number"));

} h

document.write( sum /4 );
</script>

5-2 yximnn p17'n

<script>

varsum =0, num =0, m;

for (m=1; m <= 4; m++) {

num = parselnt(window.prompt("Press a number")); n
o

sum =sum + num;
}
document.write( sum / m);
</script>




(Y72 14) 3 DONVY

(P32 NNSWN D9, NINPND PNNINY DOVA YWINIY NNHYNY MMIPN 7 /Pl 14)

ADANY NIDIPIDN NDY ORNNA MTIPI NIAND ONIPNY 01D Pokimon-Go pnvnin N1yona

(steel) monn-) (water) o ,(flying) NDO : DMIMIPIA (type) MND 3 DIN»P

;)OI NO DO Naya Mipnn iy

(points) M1

(type) ¥o

100

(flying) nov

50

(water) On

150

(steel) nonn

IN THPNYNRI NNT, DMDIPIAN JAON DY 1NN DN MITIPIN NIND NN AWND TWANDN DNV TI9D

NTPIN NI

0 /) 2000 S¥1 2XY M ITNIN NHTPNN NN .(5912) ') 2000 TY 12XY MY ITNN TINVYRI NN

.(steel) NoNN NDN DM 6 MNSY INMVYI2

: DININ DOVYHN VLOPLN MIINA WA 7 AW’ NN DY NNNDY DAV NI INND

NN MMPIN MND TO -
PON DY -

oy o o
d laeld el | T e -

TOPIDT P

o e
-l | N L - Pl w | e | Ll -

arn

s o g o s
I-'\-l o - - -




JODRM NN MTIPIN NN 2IWOND NIV TN DNV .DNVN NX NNIAN PPIN TP YOP T
: ©IDNN DYPONN NN DHOYND W

<html><head>
<script>
function calculate()
{
var pkm_flying = parselnt(document.getElementByld("flying").value);
var pkm_water = parselnt(document.getElementByld("water").value);
var pkm_steel = parselnt(document.getElementByld("steel").value);
total = pkm flying*100 + pkm steel*150 + pkm water*50 ;
document.getElementByld("points").value= total;
if (total > 2000 && pkm steel > 6){
document.getElementByld("com").value = "nnTpnn nna";

}

else document.getElementByld("com").value = "mnwxy NI
}
</script></head>
<body dir = "rt|">
<h1>589w9 ¥ NN WwHvw</h1>

N NI <input type = "text" id = "flying" value = "" size = 4>
DN NP <input type = "text" id = "water" value ="" size = 4>
NONN IS <input type ="text" id = "steel" value ="" size = 4>

<br/>
<input type = "button" id ="clac" value = "2yvn" onclick = "calculate()"><br/>
MTPI MNO <input type ="text" id = "points" value ="" size = 4>
190X NN <input type ="text" id = "com" value ="" >
</body></html>




(P2 18) 4 DHNY

935 =3 90 /73 5 -2 PYO ,/PI 8 PPN NYAV ,NINWYN MNN 920N VIPY NPNT ,ApyN NYaV

s MIRXIN OATN (0-9) MM9D 5 VPN JavaScript -2 TP YOP 790

<html><body><script>
var m, digit;
var result 1 =0;
var result 2 =0;
for(m=1; m<=5; m++){
digit = parselnt(window.prompt("Press a digit"))
if (digit % 2 == 0){
result 1= (result_1 * 10) + digit;
¥

else{

k
¥

document.write(*'<br/>");

document.write("Result #1 is " + result_1 + "<br/>")

document.write("Result # 2 is " + result_2)
</script></body></htmI|>

result_2 = result_2 + digit;

DYOIPN NIAY VI AN NN NI TIPN YOP INN APYNN NIV MYNNNI DIPYO ¥ N
9 YUNRIN VOPN) 9,8,6,5,2 : DOININ

result 1 | result 2 m digit V59
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Result# 1 is 646

Result#2is 6
64615 ,64633 - NONTY MNY  NPIIVON 5 MIN1D

: result_2 mnwnn S ympan nn
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%k %k %k %k %k
%k %k %k % %k

* %k %k %k *k
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<html><body><script>
var k, m;

for (var k = 1; k <= 3; k++){
for (m = 1; m <= 5; m++) { 15 5% NNX N DTN .
document.write ("*") ; oy |

}

}
</script></body></html>

<html><body><script>
var k, m;
for (k = 1; k <= 3; k++) {
document.write ("*");
}
for (m = 1; m <= 5; m++)
document.write ("*"); .N»aod

N NP PN
{ 8 M1 NNN NNV OITIN | .2

}
document.write ("<br/>");
</script></body></html>

<html><body><script>
var k, m;
for (k = 1; k <= 5; k++) {
for (m = 1; m <= 3; m++) {
document .write ("*") ; 9521 MMV 512 1290 09TV

} Ny»21510 3 NNV

document.write ("<br />");

}
</script></body></html>
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<html><body><script>
var k, m ;
for (k = 1; k <= 3; k++) {
for (m = 3; m <= 5; m++) {
document.write ("*");
}
document.write ("<br />");

}
</script></body></html>
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<htmI><body><script>
var m, count_1, count_2 ;
var total = 0; ('p12)
varm=1; ('212)
while (m <= 400){ (‘21 2)

count_1 = parselnt(window.prompt(" *21p-23x 111> 0°0°113 "90n Noadn'));

count_2 = parselnt(window.prompt(* 2257% 0°0°0133 1501 no1da"));

pay = count 1 *10 + count 2 * 15 ; ('p13)

total = total + pay ; ('?13)

document.write(pay + " x17 07w anownn 2yw 01207 ); ('Ra 3)
document.write("<br/>");

m=m+1;('p13)

by

document.write(total + " x37 noxIw 92107 77 0190") 5 ('R1 2)

</script></body></html>
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<html><body>
<h1>what is it</h1>
<canvas id="canvasFrame" width="400" height="400" style="background-color:blue"></canvas>
<script>
var elem = document.getElementByld('canvasFrame');
var ctx = elem.getContext('2d');
ctx.arc(200,100,100,0,2 * Math.Pl,true);
ctx.fillStyle = "yellow";
ctx.fill();
ctx.beginPath();
ctx.moveTo(50, 150);
ctx.lineTo(200, 400);
ctx.lineTo(350, 150);
ctx.moveTo(50, 150);
ctx.fillStyle = 'orange’;
ctx.fill();
ctx.closePath();
</script>

</body></html>
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'You should press inside the square!' nyTin Y911 NN MK Y5 DY NPdPNa
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<script>
function quiz(event) {
event = event | | window.event;
var ctt = document.getElementByld('canvasFrame');
var XM = event.pageX - ctt.offsetlLeft;
var yM = event.pageY - ctt.offsetTop;
if (xM>=x1 && (xM <= (x1 + square_size)) && (yM >=y1 && yM <= (y1 + square_size)))

{

ctx.fillStyle = "blue";

ctx.fillRect(x1, y1, 50, 50);

}

else

if (xM >=x2 && (xM <= (x2 + square_size)) && (yM >= y2 && yM <= (y2 + square_size)))

ctx.fillStyle = "blue";

ctx.fillRect(x2, y2, 50, 50):

}

else {
alert('You should press inside the square!’)
}
}

</script>



